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Type: MCQ
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Question
Type: MCQ
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Type: MCQ
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Type: MCQ
Question: | 16 38 Afafanet «, © € (A, v} T& | Ho@ (pxq)e(p © ~q) B ysg Gt 3, 3¢ qpdu v
(%, ®) 9
A: (v, A)
B: (V, v)
C: (A, A)
D: (A, V)
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Type: MCQ
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Type: MCQ
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Type: MCQ
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Type: MCQ
Question: A9 UgrEeT i = 2x —3 €3 f¥en P w3 Q 3 fudh mugw Jur=t fig R(0, 1) 3 deeit I5 3T
| 337 PQR T &g a9 I
A 0, 1)
B: (2, — 1)
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Type: MCQ
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Type: MCQ
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T;pees: 1on MCQ
Question: | S%9 X2 +12=1,z=0 8T R fig I 35 2x + 3y +2 = 6 3 B9 &7 UT Io fehor <39t 9" faradl
- | fea QU FgE T
A (6x+5y—12)2+4(3x+7y—8)2=1, z=6—2x —3y
B: (5x + 6y —12)2+4(3x +5y—9)2=1, z=6—2x — 3y
C: (6x+5y—14)2+9(3x+5y—?)2=1,z=6—2x—3y
D: (5x + 6y —14)2+9(3x + 7y —8)2=1, z=6—2x — 3y
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T;Jpees: ion MCQ
- - 5% « . . "
Question: ﬂaaf(x)=7 —, x>0, T f5853H HB 14 I 3T o T HS T999 J
X




A 32
B: 64
C: 128
D: 256
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Type: MCQ
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Type: MCQ
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V3 1543
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ID:
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p. q e R&E, THSIA HS @55 fix) = (x—p)2—q xe RS q> 05 fegd | He &8 a, a5 a3 M3
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ID:
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a
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Topic: Mathematics-Section B
Item No: 30
Question 400630
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Question: - i 3x2—9x +17 _ 5x2-7x+19 " "
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wig T U3 §UT 19.6 Hi=g & Burst 3 givg 8o I fare 39 9 km/h &t AN 318t &% o BT ©F
UIS 7 99t I | fan uH 339% AN gieg fBa wiy faet fder 3 aeﬁ'a‘%zféﬂﬁmgﬁuaam

Question: | » g & firge & A GREt Tt ¥im @ wous T 1o 2
(g=9.8 m/s2 &)
A 5m
B: 10 m
C: 19.8 m
D: 245 m
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Type: MCQ
T WSBI-NBAT Y& I'E, 5 kg & B T3 25 ms— 1 T 3239 o gl Jgt eferg 5 camrgEr
Question: | T »3(i) 3 AfdsT (ii) 5 AfdsT amie gHe9 feaH niergr &8 wrBe T
A o< o ST »ikal »i3 TA3 3 Blom MRS 8% 99 Jed |
B: niiedr et i f&g 83t d=ar ug niAss 9% J9 J<ar |
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Question
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Type: MCQ
Question: feg g9 emoen 9 10 g e UA | g9 & 927 4.5 cm/s & a8t 5% AHS €9 5% f5a@ Aret
| 1 A FET 5 fev St 397 fima A U 13T g9 §UT »iAss sR(3Els <9) e s foor U
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Question
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Question
Type: MCQ
Question: # fygst @ Um 8t 99 w3 femer w9 fonrR 2% owmaT e #iwr J fysst & m3fo 3
| II3T MFIGHE T Y=
A: 2% TATIT e AR |
B: 4% TwTIT uZ TR |
C: 2% TwTIT U
D: 4% TATIT TUTT |
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Question ID: | 100636
Question
Type: MCQ
. 1 cm? J2u39 ©f 8 39 § fHY & TaieT Saret ade @A fos 5% & 7993
uestion: = =
(fg37 T 379 T dard H'3BH =2x 1011 N/m?)
A: 1x107 N
B: 1.5x107 N
C: 2x107 N
D: 25%107 N
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Question 100637
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Type: MCQ
Question: fEa ardec fEaz & aoa d&B3T 50% J1 7 Hu3 359 ¥ IUHE 40°C wefenr ae 3t Jron
| FE®3T 30% TU A I | IY 3T T IUNS o g
A: 166.7 K
B: 255.1 K
C: 266.7 K
D: 367.7 K
Topic: Physics-Section A
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Question
D: 100638
Question
Type: MCQ
J5 € 385 o3 T3
FES1:  »iEdd aF © faH 545 &9 viandt & WiAss A s 3 fodgd gae J1 -
Question: | gEs 11: ¥ dF &g wreias € wignt & rms 33T 0 T 7 IUNS TaT o9 fozr ae 3
WIGHTES € ME € o MIaHS YH'E B8eE 3T rms d5T 20 J At J .
Budas aEa O IAr feg s a3 ot f&9° Adt €39 ue
A: 85 I ni3 Fg& 11 €< AT 35|
B: G5 I ni3 FEa 11 &< %3 T5 |
C: G5 1 Adt I ug g6 11 353 J
D: G5 19%3 I U9 J8s 11 Adt I
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Question Type: | MCQ
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A: 200 m/s
B: 20042 m/s
C: 400 ]II/S
D: 40042 m/s
Topic: Physics-Section A
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Question
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Question
Type: MCQ
g999 40 uF U993 % € U9d § BI04 &% Sarfent fakt ¥ feost f9s ffa uoa dind
Question: | gt fEgarg AHt § € TS HIZT i K 7% 2uget U9 &% 3fonr dier 9 3t 3 feemer &
ynifes TgasT 24 wF 8= 7= 31 K fdar 9=
A 1.
B: 2.5
C: 1.2
D: 3
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Question
D: 100641
Question
Type: MCQ
Question: R, y3i9u =@t f&a 39 ¢ fen 3t fifonr fmr 3t {3 foret Sadt <o & ufodt Saret 3° Jae
| & ySteu  nE ufod yStou T &t wiguts 9T
A B |
B: 19
C: 4:1
D: . E o |
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fan I@=oHted ©f dde HodaHisz fae' ot 7 Aot J :
(A) WS & fasst wer
(B) vgal 837 U |

Question: " ” @ g
(C) o3& = i wer o |
D) mufdar € 29rss AfEg § ueT |

A: ﬁqﬁg(B) W (C)
B: frge (C) e (D)
C: fige (A) 3 (©)
D: frge (B) e (D)
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Questi
T;Jpees on MCQ

fae fozg feu foufenm for3T 3 045 kg m-1 &t 3 wazr et o3 &t &3 ¢ ufzA 9, & v

A% A ufsA e a® 45° T o geer g Qua Iftmr fomr T | fom 23 &8 &5 uie 3 uiz 92

ferafuz 92 3t @ 0.15 T&r Judl 437 uZem BUT 35 &a1 & ferg fea nierer &8 T |
Question: {g=10 m/52 FS‘E"]

B 4 ZI ﬁ
45° 11

A: 30 A
B: 15 A
C: 10 A




D: 3 A
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Question
D: 100644
Question
Type: MCQ
fég Hu Yo AOde BT d9e o AHEDE 5 sin(49 mt—30°) I YId & oH3s 30 mH IR
Question: L )
yga wnmd 2 fafowr 3 @23 & mitags J2at {E‘_'c’ ™= 7}
A 1.47 sin(49 wt—30°)
B: 1.47 sin(49 wt +60°)
c: 23.1 sin(49 wt—30°)
D: 23.1 sin(49 wt+60°)
Topic: Physics-Section A
Item No: 45
Question
D: 100645
Question
Type: MCQ
fre* fo3g o feufenr famr 3 feg wimn 99 gase 3 g yam < a=t o, ©
HftmHt o5 &w & foiat It |
(c=3x10° ms-15)
Question: | A+ IMedium 1|Medium 2
pe=1 | w=1
er=4 Erzg
Cl ™ | ™
A: 1.0x108 ms-!
B: 0.5x108 ms-!
C: 1.5x108 ms-!
D: 3.0x 108 ms-1
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ID:
Question
Type: MCQ
, AogE 39 wu=df33 vgegH! 30 A3 37 w3 539 &7 o »iuAt €930 em I #  femet dat
Question: O - i 2
TITIHGS 29 3T TAZ & Son St It
A 20 cm
B: 30 cm
C: 10 cm
D: 15 cm
Topic: Physics-Section A
Iltem No: 47
Question | 490647
Question
Type: MCQ
¥ mieaE A = 222 hm & fedaes @ 3t 5505 350 SaEt fomisT o Bet <ot wer I 3
N O
fer milags fRe xfar @Az T
Question: | e @ m=fE¥ags & UA
P =fedazrs v Hear
K =fed%ags & aifsn Gam
V = fedders T y=at UeHs =%e 9
A VmK
B: JP
C: JEK
D: sl N
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1(?;pees:tion MCQ

Question: | ToH SSTSTaH ueTas & 1ed U € »igu mig 60 fes I %ﬂg%%hﬁﬁﬁ%ﬁ?ﬁéﬁw
HHT Sdrar |

A: 120 fes

B 130 fes

C: 180 fes

D: 20 fes

Topic: Physics-Section A

Item No: 49

Question ID: 100649

Question Type: | MCQ

Question: fe3 3T 939" »igAd| AT RS © g @9 foagr i At O
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Question ID: | 100650
Question
Type: MCQ
Question: | WTITH HEBHE T©I'E U8 fHAa® § nidddl aoe &el Hashe fEsan(y) fast d=r ardier T
A p,El
B: B = -}
C: |L=2
D: |L=U
Topic: Physics-Section B
Item No: 51
Question ID: | 100651
Question ,
Type: Numeric Answer
— - e g A o iy iy i s
Question: | § Hfew 27 +4j —2k T Y= i +2j + ak fAET I° I & dtH3 Jl
Topic: Physics-Section B
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Qgesﬁon 100652
ID:
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feg 3 JStGuadt AH ©F nou w2 W 30 fie T »3 feg yfes Aeet AST 3 64 gt ot
Question: | feggs & Stug3T E3rss 9w T | We S ue A uje 3T AT feA AN S 59 &
IH 95T Hae J<an
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ID:
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Question .
Type: Numeric Answer
tar & godt 5t @8 Yoot €9 AT &9 € YFH (7= 560nm) 5% fe=df33 Ueds geer J 3t
Question: | 7 BT THI Tt SfHT BT ST 7.2 mm Jer I T AT YA § feeafss tews e
I fomr B3 9HF THT SfdAt & WiZTS 8.1 mm I fapr | EAT yaH nm
3da1 FFET J |
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Question | 100654
Question .
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LCR &390 Adae <9 92 miaH, Ba3H @ % JIEt J AT J AT Adee ©f »ifest 212 rad s 1
Question: - . - g p—— o %
3 232 rad s! JeF T F A9se © YStou & ySiofuas™ R=5 O 92 37 AJS ©f A=-YIa3T
mH J=at .
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Auestion | 400655
?ues.tion Numeric Answer
ype:
fre fozg e feurfenr famrr 3120 Q & y3iSfoar »= 300 cm & Baet @@ Uehies &t 398
YS90 8aH (R.B.) »i3 4 V emf T8 HER HS Sarftent famr T e ySiofta sarfes ‘R’ y3tou &
AIae feg fenmfens Aier T 3F 20 mV T A% 3% 29 (null) A3fEs e 60 cm 3 wi8er 3 y=iao
‘R & HS Q3T
Question: 4V R
— —RB—
A B
——©
20 mV
Topic: Physics-Section B
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Question .

Type: Numeric Answer
@ fomeet € ugel fist & fugst HHe 1.2%x10-30 Cm »® 24x10-39 Cm T § nida-widar €

Question: A famsst 839 st & AHTEr gHeg 5x 104 NC-1 w3 15x 104 NC-1 feg Sfimr famrm T |
@ﬁwmﬁ?m@m#mﬁwwlﬁ%ﬁ?x?% JI

= X
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Ql.festion 100657

ID:

Ques.tion Numeric Answer

Type:
¥ 29% 320 Hz & nirfedt & /2t € niers Uer gaet 98t B uarst 2% 36 km/hr €t a8t 575 7

Question: | It I frar &% 295 © STEieg § HiIt & din pereT fioet I 7 uat &t et o= fRY 330 m/s R I |
A = nrfest Hz 33t |
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ID:

?ues.tion Numeric Answer

ype:

T © 5598 T fo 2mm I 7 1750 kg m 3 & wezr @78 Us <9 0.35 cms -1 & 29 3 Bars@

Question: | §g &% i faor I 3t U® & feRIAZT T JE poise J=ar | H = & wEIT §
ST T |

Topic: Physics-Section B
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‘m’ YA T R gear (AR 39 s feurfonr 3) aifs 897E 5 gwer dfenr feg st § 25cm
€9 3¢ Ty foer 9 | 7 fenet oSt witt &9 ot A< 3F 593t ot aet & aeT AfEg wig nE
Nm-131| n=

Question:
—E
m
Smooth surface
Topic: Physics-Section B
ltem No: 60
Ql.festion 100660
ID:
_CI_)ue§tion Numeric Answer
ype:
UA ‘M’ »i3 fooR ‘a’ it fea mis ferat & feure nighg feenfas ofsr fomr 91 § fen feemer
ETF@’S’TQFOO‘WEMaza'?xﬁBﬂ?B It
TO
Question:
e
Topic: Chemistry-Section A
Iltem No: 61
Question ID: | 100661
Question
Type: MCQ
Question: | It a3t fE9° I®3 I8 ©F UEE o9 |




fsBfenm & »es od diarg IrgT faR R9 fedags wver I BRd sdg nwafie € 39 3

A: =
Hienr famr T |
B: fea nrafaes uans fEa fesags & 3991 e () J|
C: g9 nirgfae & J€ g TEI3H6 AUSCH & HEe Aist T |
D: AT nafaes’ € & eH Wid n i3 | e97d 2gre aie I5 |
Topic: Chemistry-Section A
Item No: 62
Question ID: 100662

Question Type: | MCQ

Question: Jot fa3 Auat &9° fagzr At &3t T 2
A: AH =AU-PAV
B: AU = q+W
C: QSS}_,S +AS_ ., =0
D: AG=AH-TAS
Topic: Chemistry-Section A
Iltem No: 63
Question | 490663
Questi
T;Jpees: on MCQ
Adt-1»3 mat- 113 Heg |
Fet- 1 get- 1
(A) Cd(s) + 2Ni(OH);(s) = CdO(s) + 2Ni(OH),(s) + H,O(l) (I)  yfendt et
(B) Zn(Hg) + HgO(s) = ZnO(s) + Hg(l) (I) Fetzat
Question: gedt freran ageT
(C)  2PbSOy4(s) + 2H,O(l) = Pb(s) + PbO,(s) + 2H,50,(aq) (1) fEus Am
(D)  2H»(g) + Oz(g) = 2H,0(1) (IV) FeiEdt gedt § oafns
odar




A (A) - (1), (B) - (1), (C) - (LI, (D) - (IV)

B (A) - IV), (B) - (1), (O) - (11), (D) - (ITD)

c (A) - @, (B) - (1), () - (IV), (D) - (1)

D (A) - @), (B) - (1), (©) - (11D, (D) - (IV)

Topic: Chemistry-Section A

Item No: 64

Question ID: | 100664

?;pees:tion McQ
get-1»3 get-11 @ fies &9 ¢

Aot I get- 11
yISifafanmr g3yda

(A) 4NHjz(g) + 50,(g) =4NO(g) + 6H,O(g) () NO(g)

Question: | (B)  Np(g) + 3H;(g) — 2NH3(g) (I)  HySO4()
©) C12H»O44(aq) + HyO() _)(;‘16;_;1?206 + Ucetluoe (m P
(D) 250;(g) + Ox(g) — 2505(g) (IV) Fe(s)

A (A) - (D), (B) - (), (C) - (I), (D) - (IV)

B: (A) - (II0), (B) - (1), (C) - (1), (D) - (IV)

c: (A) - (II0), (B) - (IV), (C) - (1), (D) - ()

D: (A) - (L), (B) - (1), (C) - (IV), (D) - ()

Topic: Chemistry-Section A

Item No: 65

Question 100665

Question MCQ

Type:




Jot fe3 Afant 9" fom 73 © 337 & fedacs qfos nistsudt sas9 g9 7 fagh T 2
(A) Rb w3 Cs
. (B) Na n3 K

Question:

(C) Ar 3 Kr

(D) I w3 At
A: frgg (A) »3 (B)
B: frag (B) e (C)
c: frge (A) »3 (O
D: firgg (C) »3 (D)
Topic: Chemistry-Section A
Item No: 66

Question ID: 100666

Question Type: | MCQ

Question: faast ySifafonr 6t o3 € Awss a9z &2t bde Rat & ga= J 2

A 2Cu,S + 30,5 —2Cu,0 + 250,
B: Fe;0, + CO — 3FeO + CO,

c: Al,O5 + 2NaOH + 3H,0 — 2Na[Al(OH), ]
D: Al,O5 + 6Mg — 6MgO + 4Al

Topic: Chemistry-Section A

Item No: 67

Question ID: 100667

Question Type: | MCQ

Question: U3 ¥ & g3 a9 f<Ut g9 989 UEl § 594 J9 298 & I%

A: Ca(OH), 3 Mg(OH),

B: CaCO,4 i3 Mg(OH),




c: Ca(OH), n3 MgCO,
D: CaCO, »i3 MgCO,
Topic: Chemistry-Section A

Item No: 68

Question ID: 100668

Question Type: | MCQ

Question: J5t o3 sEst &9 a3 3?2
A: LiF & ust f&o e wasAtsst foret we oeigas mistsdt o9 J |
B: KO, Fg= 39 niggeat J |
c: ASH & 39% nidhert 99 us Ao <9 &d J |
D: AShiH T3 & wezT UerfimH U3 5% U get J |
Topic: Chemistry-Section A
Item No: 69
Question ID: 100669
Question Type: | MCQ
get - 103 gat- 1 § fheG@ ni3 yStiafonr 9" fsawet an fHerg;
et - 1 gt - 11
(A)  (NHy),CrnO; —2— O H
Queston: | (B) KMnO, + HCI — () N,
(C) Al+ NaOH + H,0 — (I O,
(D) NaNO;—2 (V) Cl,
A (A) - (D), (B) - (I1D), (C) - (1), (D) - (IV)
B: (A) - M), (B) - (I), (O) - (IV), (D) - (1)




c: (A) - (D), (B) - (IV), (C) - (D), (D) - (1II)
D: (A) - (D), (B) - (AV), (©) - (1), (D) - (II)
Topic: Chemistry-Section A
Item No: 70
Question ID: | 100670
Questi
T;pees: ion MCQ
Question: | Jar fadhni S8 famet e ufeet Immg &vs yStfafon a9 H, 25 & AZ 3w T ?
A: CHi
B: Mn
C: Ni
D: /n
Topic: Chemistry-Section A
Item No: 71
Question ID: | 100671
Questi
T;peesz ion MCQ
Jot T oEs B3 a7 76
Ovest qEE1: YAz ust &0 €3 w&t I8t niards w3 S.65t v v we JeT T
uestion:
qES [1: USIGoAs © 5% Wt I8 midHHG H=3ar weet J |
Budas FEst © w3 I 23 feamyt €39 &9° Adt €39 92
A 6 aEs-1 »=2 FEs-11 Ad 75 |
B: o6 FEG-1 »3 FEs-11 T53 T5 |
c: FE5-1 ATt I U9 FEE-11 a3 J |
D: FE6-1 I%3 I UT JEs -1 AT T5 |
Topic: Chemistry-Section A
Item No: 72
Question ID: 100672
Question Type: | MCQ




R At 11

(A) Q () PUES tfax
(B) ><]>< ) wEnfes Gfom

Question:
(C) N (II) 319 FH3E JeToaTag Ui
(D) | ‘ (IV) € Joar G
A (A) - (1), (B) - (), (C) - (IV), (D) - (1IT)
B (A) - (IV), (B) - (1T}, (O) - (1), (D) - (IT)
c: (A) - (1), (B) - (IV), (C) - (1), (D) - (W)
0 (A) - (IV), (B) - (D), (C) - (IT), (D) - (I)
Topic: Chemistry-Section A
Iltem No: 73
Question ID: 100673
Question Type: | MCQ
(|:H3 Hg(OAc),, H,0
uestion: BH C)as
e B <02 5 H,C—C-CH=CH, ol kN
H,0,/0H | NaBH,
CH,
A: 6 ‘A’ »i3 ‘B’ Hadate™ 13 H3fag G a5 |




B: ‘A’ Haddtes BuA ‘B’ feudis Hidaeies BuA 7 |
C: 25 ‘A’ mi3 ‘B’ feudts waastem B8Rt 75 |

D ‘B’ waaater™ A ug ‘A’ feudts waases BUF T |
Topic: Chemistry-Section A

Item No: 74

Question ID: 100674

Question Type: | MCQ

Question: Jot nifaz Yerat fe8" foaos dferar /g 37 ue pK, & sarSer I 2
H
A: |
H,C — COOH
H O
B: |l
H
C
C: HB
O
H
OH
D: |/
O
Topic: Chemistry-Section A

Item No:

75




Question ID: 100675

Question Type: | MCQ

ﬁﬁ]%é}uéﬂﬁ%wré’raé’rﬁgaﬂéw An3 BE ugE &9 |

1) CH CHCH , AIC]
8 o, 4 ¥ NayCry0,/HyS0,
Question: > P » A
B, H,0 |
Br, in CS,

®

Br

OH

@ .

Br




') OH
Br Br
e
O Br

C:

OH

OH Br Br
D:
S

Br
Topic: Chemistry-Section A
Iltem No: 76
Question 1490676
Questi
9 ;pees: ion | m1ca

Jor o3t gowe <9 At 986 UETE :correct statement for the below given transformation.
Question: C,H;ONa
uestion. CHS - CH2 - CH2 — (I:H - CH3 m"‘ A+ B
ON(CHy), ~ = Hu8W & 8um

A A - CH,CH,CH=CH - CH,, B - CH,CH,CH,CH = CH,, Aere 8urt
B: A - CH,CH,CH =CH - CH,, B - CH,CH,CH,CH = CH,, Ia& 8
c A - CH,CH,CH,CH = CH,,, B - CH,CH,CH = CHCH,, dJehs Ut




D: A - CH,CH,CH,CH=CH,, B - CH,CH,CH = CHCH,, fieie QU

Topic: Chemistry-Section A

ltem No: 77

Question ID: 100677

Question Type: | MCQ

Question: cIHE g WSS &% YU JeT J;

A: S1EG-1, 2-3TEMI® M3 TaH16-1, 3 STEIIAGS wiFs
B: JUs-1, 2-3TE0% W3 Bomie-1, 4 SETIABS MiHs
C: SIEE-1, 2-3TE® M3 T5H16-1, 4 SETIIHAGS A
D SIEE-1, 2-3TEM® M3 T5H16-1, 2 SEIIEWAGS WA
Topic: Chemistry-Section A

Iltem No: 78

Question ID: 100678

Question Type: | MCQ

Urfegad & daararg oit wiFtes (X) 2 Adt Aoes J :

Question: H-C-0OH




e
®
|

OH
A: OH
HO |
OH
HO =i
OH
B: OH
HO |
OH
HO ]
C: OH >
HO | OH
OH
HO =
HO OH
D: OH
OH
Topic: Chemistry-Section A
Iltem No: 79
Question ID: 100679

Question Type:

MCQ




H< 83U Joz Tl TeEnt @19 Ut oEs O AT 96
(A) f&T HIES M3 dI9 HATSS das BT BTemft T |

ouestion: (B) feu fafonrits gf #f nigncfoa g 3 03 Ao 75|

| (C) HI=g®E TIEMit MiBACIIA 8 €7 3 feemT I5 |

(D) 319 Harawe eemft fafewits gt & 3 fodht 75 |
J5 3 Ramut &9 m9 3° ga=t €39 v

A fige (A), (D)

B fAge (A), (C)

c. fime (A), (B)

D: fimg (A), (B), (O)

Topic: Chemistry-Section A

Item No: 80

Question ID: | 100680

Question
Type: MCQ

THI T IUHS 3 »EtEsTEls nifes & H,0, &% yfsfafanm e wiftirs sz famr 3
(A) U?WWEI’FEHFHC'dtI%%dQ' BﬂEﬂT—ﬁEﬁﬁl

a om0

(B
Question: | (C) m—rérarava%ﬁ%amw@sewaé‘l
(D) AN & J=& 72 &S da1 nrz 3 ufast 9|
(E) TN ASEE8 A%ee W & AwssT KIT WS 5% <0 9 |
Js f&3 eyt 8" A% 3 da=t 839 92
A frag (A), (B), (O)
B fge (A), (D), (E)
C frge (D), (E)




Topic:

Chemistry-Section B

Item No: 81
Question
D: 100681
Ques.tion Numeric Answer
Type:
et yStfafanr set
X +Y + 3Z SXYZ
Question: 3
X3 Y © 59789 H 0.05 HS Z & ySifafanm XYZ, Gfea fdet 3 XYZ, & Ueeg aH
J1(fe3 uans<t 39 X, Y M3 Z »i3 10, 20 »3 30 amu, IHST I5) XYZ,in g is
Topic: Chemistry-Section B
Item No: 82
Qgestion 100682
ID:
Question .
Type: Numeric Answer
fea 33 M izg Jefa3 wararg 39 fardifas Jer 9 fam fearet s © fAg &t d9rgt 300 pm 1 &
Question: | 33 = WE3T 6.0 IH/AH 3T 3t 180 IrH 33 9 x 102 =t UIHE Hoe T5 |
(8739 338 yas wig 35 fg4)
Topic: Chemistry-Section B
Item No: 83
Question ID: 100683

Question Type: | Numeric Answer

Jor ot &8 wigggst AUtEA ©f fosst J|
Question: 5
B,, Lip, Cp, C, 05,0, ™3 He,
Topic: Chemistry-Section B
Item No: 84
Question
D- 100684
Question

Type:

Numeric Answer




150 g4 niFtfea mifis § 10.2 wirasfad wfis (C HO,) &% nET o137 famr T 3t fg femer
S gamr (xx 10~ ) Cue AR | x & WS I (839 33® yds nix 37 few)

Question: .
[fezr K=3.9 k kg mol 1]
[H&9 39 wiAEIfad WA= 176 ¢ mol ~ 1]

Topic: Chemistry-Section B

Item No: 85

Question

D: 100685

Question .

Type: Numeric Answer
faBefaa mifis (C,H,COOH) & K_2x10-°3 | 02 M u® f58efag wfis & pH

3tz a 2 P

Question: | x10~ ! T|
[fe3: log 2 = 0.30]

Topic: Chemistry-Section B

Item No: 86

Question

D: 100686

Question .

Type: Numeric Answer

. A—>B

Question: . ' . N ' o
ySifafanr & n@u »rg 03010 file I wifsaorat & Ag & RwssT »i3 AHF 2.0 fifet ame &
AWEST T nEUs T 9989 J<ar|

Topic: Chemistry-Section B

Item No: 87

Question ID: 100687

Question Type: | Numeric Answer

Jot o3 feegoens &9 fag faest Ages <Jar fuafhst T

Question:
CIE,, IF,, BiF;, BiFy, I,Cly; IF;; CIF, CIF,
Topic: Chemistry-Section B
Item No: 88
Question ID: | 100688




Question

Numeric Answer

Type:
At Hrftmi 99 MnO32~ & #AHTS nigurss yStfafanr g 2 Fadia 2 Gl A »i3 Buee 76
Question: | 3 Bt nigHlarad MeAET A, 5% Uiz 9= 137 B T fige fafus g9at Hite () & 1S BM
J1(839 338 yIs vix 3 f5H)
Topic: Chemistry-Section B
Iltem No: 89
Question
D: 100689
Question .
Type: Numeric Answer
Question: wis &t Cu(en),(SeN), &8 &5 fazst yarase fammer fHEg yam mmiset &t fasst
' J=aft |
Topic: Chemistry-Section B
Iltem No: 90
Question
D 100690
?ues.tion Numeric Answer
ype:
Question: 0492 IH FIEST Gfow A C, H»i3 O Hge 36 § Ush 3T A%8e 3 0.7938 IH CO, i3

04428 H HLO er Jer 3| fem oforr RS wifts = % Wil ol




